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QUESTION 1

Which command displays the Linux agent status?
A. Service fsm-linux-agent status

B. Service Ao-linux-agent status

C. Service fortisiem-linux-agent status

D. Service linux-agent status

Correct Answer: C

QUESTION 2

What are the four possible incident status values?
A. Active, dosed, cleared, open

B. Active, cleared, cleared manually, system cleared
C. Active, closed, manual, resolved

D. Active, auto cleared, manual, false positive

Correct Answer: C

QUESTION 3

Refer to the exhibit.

An administrator is trying to identify an issue using an expression bated on the Expression Builder settings shown in the
exhibit however, the error message shown in the exhibit indicates that the expression is invalid.

Which is the correct expression?

A. Matched Events COUNT()
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B. Matched Events(COUNT)
C. COUNT(Matched Events)
D. (COUNT) Matched Events

Correct Answer: C

QUESTION 4

What is the best discovery scan option for a network environment where ping is disabled on all network devices?
A. Smart scan

B. Range scan

C. CMDB scan

D. L2 scan

Correct Answer: A

QUESTION 5

Which FortiSIEM components are capable of performing device discovery?
A. FortiSIEM Windows agent

B. Worker

C. FortiSIEM Linux agent

D. Collector

Correct Answer: D
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